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Bt R = — F‘W wbiat 2024 1EAMNREHSR =— K| 24080701 PR
FEAEFA A T BE miihs Bt RESAEEEFRERS =— K| 083090 FREk AT
EREN CIE T . [HEEEE T = JIE) ideE 4 = [HEEE T = [HEEEE T = [HEEEEEE . [HEEEE T = [ EEEE B
Sl I P v [ TR ) e il [ T Rl [ Y el A il (1 1 R ) e R | e .
04/14|/NEBF RES| 1|1 |KE WAfE 2| 8.88 |2|#FAK RE 1| 9.31 |3 |#H i 2] 9.62 | 4|#85I #H 2| 9.75 ||5|FKE & 2| 10.11 || 6|k& T4 2| 10.25 |7 |tkHk £ 1] 10.93
50m —0.5] [&#W-KFAC 2R3 - BOSE TC OB BARC K- KFAC K- BFRAC WA A C HMBAEME L
04/14|/NEBF RES |24 1|/ME —F 3| 8.30 ||2|KKk ME#R 3| 8.60 |3|#KAK Jk&E 3| 9.03 |4|/hEE F# 3| 9.04 |5|FHE KX¥ 3| 9.35 |6(FEEE K¥#E 3| 10.22 |7 |/hk =A 2| 10.31
50m —0. 6| [XB-BETC 2R3 - BOSE TC 4% - BOSE TC R - B AN R HWEAER L R EELE R - RIEN
04/14|/NEBF REE|SHE |1 (BRE BE 4| 7.99 ||2 |AKBAER 4| 8.33 |3[MEMZI 4| 8.57 |4|HN BXK 4| 8.78 |5|E®m HBAK 4| 8.98 |6|R#E IEX 3| 10.78 NFEER 4| XRi5
50m 0.5 |[&H-Mm@TC ZHg-KFEAC R WEAERL R HMBAER L R -BOSE TC ZH-BHRAC ZHg-BE T C
04/14|/NEBF REE|AfH|1|5BAR BBA 5| 8.05 |2|tki#k E#E 5| 8.65 |3 |F1E &EXK 5| 8.66 |4|hEF RiE 4| 9.30 |5 |mMEEAHL 4] 9.77 |6|E+AEAN 4| 10.32 N & 4] R
50m =0. 2| |ZH-REER k3% -BOSE TC k39 -BOSE TC 2R3 -BOSE TC R BBEAERLE %3 -BOSE TC FH-ULBHEARC
04/14|/NEBF REE |11 |/08 —F 3| 15.99 |2 |KKk MEtE 3| 16.53 3|8 Bk 4| 17.33 |4 |hEF R4 4| 17.40 |5|/h8& E=#t 3| 17.82 |6 |KE AfE 2| 17.88 |7 [tk £ 1| 21.90
100m 1.5 [&H-m@TC k3% -BOSE TC 39 -BOSE TC 2R3 -BOSE TC R E AN Zyg-KFEAC R BBERERLE
04/14|/NEBF REE (2401 |8RE ZE 4| 15.79 |2 |#&H HF3 4| 15.87 |3 |KE FHt 4| 17.96 |4 [3kRMEe+4 4| 18.83 B R#E 4| X5 NFBRER 4| Rip EE M 4 x5
100m -1.7| [ZEH-m@TC K -ERAC ZHg-KEAC K- HIEAEAC K- BHAC - BE T C K- BET C
04/14|/NEBF R | SHE | 1|8 & 5| 1490 [[2|AKMBKED 4| 16.26 |3 |FR Kk 4| 16.62 |4 |tkPe =S4 5| 16.67 |5 | 3} 5| 17.01 | 6|FL #5E 5| 17.09 |7 |=FHER3 5| 18.79
100m -1. 9 R -ERAC K- KFAC Ry - S ERELE i -BOSE TC R - EEREL Ry BIREL Ry - BIREL
04/14|/NEBF RES | ASH |1 |1Ldk ZEW 5| 15.21 |2 |#8nl =E5 5| 16.69 3|/ EXK 5| 16.71 |4 |fER &KX 5| 16.86 |5|®JII HRF 5| 18.29 |6 |£=HEEA 5| 19.64 |7|FWWHEEA 5| 20.36 |8 |&F & 5 20.64
100m ~1. 4] |[xB-EFAC - BILRELE R HFAC K- Bk F- BIRELE K- BIkELE - BIRELE K- BILELE
04/14|/NEBF R SHE 1| FBEA 5| 14.94 |2 (%@ BE 5| 16.34 |3 |f1E &K 5| 16.40 |4 (BN WMLt 5| 16.44 |5|BRFEME % 5| 16.57 |6|iA M 5| 17.03 |7|Hk& FHF4t 5| 17.08 |8 |mHE H#E 5| 17.41
100m 1.2 |- RS Zyg- AkEL 23, -BOSE TC K- HIEAEAC Fh- AL - AakE L Fh-BEAEAC Sl BIRELE
04/14|/NEBF RES (6fH| 188K (B 6| 15.15 |2 |=4 SBEE 6| 15.22 |3 |BEBEKEA 6| 15.43 [4[)IODRIZ 6] 16.40 |[5|5RE =B 5| 16.51 |6|EEH BKX 5 16.72 |7|[#Es #&E 6| 17.93 A% ESH 5| RiB
100m —1.5] [ZH-NEO AC I - BOSE_TC K- BILEE KRk - BE/N R HEREEL R HEXERL R BIELE R EELE
04/14|/NEBF RES|THE |1 (KB f&FD 6| 15.02 |2 |EFR SmE 6| 15.19 |3 |MAK iR 6| 15.70 |4 |@ER £ 6| 16.01 |5|#%ME mixt 6| 16.62 |6 |K¥E HH 6| 16.67 ||7|FHA E 6| 17.38 |8|AK# HF{Z 6| 18.21
100m -1.7 K- MEAEAC R - AL - BIBEL R - BILkEL Ry - BIREL Ry BIREL Ry - BIREL Ry BIREL
04/14|/NEBF REE|MME|1|FRLE =R 5/3:41.81|2/h#F EXK 5[3:44.45| 3 |MEMZR 4]3:49.93 (4 (85K JkiE 3[3:52.43|5|R{F Eth 4[3:52.92|6|FH K 3[3:55.60|7JIIX EN 2[4:05.41|8 | RAEK— 5|4:15.73
1000m F-BBEAERE ZW-BRAC R WERERE 2R3 -BOSE TC Z-$EELE R BERERLE K -BRAC ZH-HRC
9||N BEK 4]4:15.80|10(#75] 0 2[4:26.19 11| kAR 4|4:28.94 KEBRAE 4| RXRi5 i HE s 4| X5 BB B— 5 Xi5
R BEREREL RiFKEAC R EERERL FE-EFTAN OB BEARC R HEAHA C
04/14|/NEBF REE | 260 |1 |fifE EA 6(3:18.37|2|/hE {53 6[3:18.63(3|K&E KX 6]3:19.78|4 |HK#E &F 6(3:22.39|5|{ZH BE=T 5[3:23.15|6|FE= KiE 5(3:24.20|7|&F #¥EL 5[3:37.65(8|HKHEH HiE 6]3:49.40
1000m %KW BIAC Z-EkELE R -BERAC K- HIEAEAC Fig-BIAC K- HIEAEAC K- RFAC FH-BIAC
9|8k B 5|3:53.33(10|F1A 1&3 5|3:57.13|11/HE HZ 6[4:01.27|12|E% 4HK 6(4:44.73|13|luUE HE 6|4:45.03 N #E 5 RE N OBEFD 6| XI5 N EM 6| RiF
FH-EEABAC o HEABAC % 3. -BOSE TC R - EEREL R - EEREL FH-KEAC K -HIAC Ry-BILAC
04/14|/NEBF R 188K 0B 6] 3m66 [[2 (B8N AL 5lsms2.3)| 3 |EE BB 5lsmio¢2.4)| 4R E— 5| 3m24
TENE Bk I -NEO AC +0. 6 FE-EBARAC |A5(13)|  |mE-EEAEEE  |2mM04018)| |mm-ogmsmac  [|«2.4 AGL
04/14|/NE % F R |1 |HE ®SES 3| 8.47 |2|EAX BX 2| 8.85 |3|HFHE EMK 3| 9.31 |4|mEEAME 2| 9.83 |(5|ME {ZF 2| 9.83 |6|EEE WDy 1] 10.36 |7 [/hEE RYE 1| 10.62
50m —0. 1| [#5-wrA@EAC K- BE T C SR VEBBARC - EEAERE L R -HKFAC K- BFAC k- BN
04/14|/hNEEF REE |26 1 [ILA HLY 4| 8.35 |24 HE 3| 8.85 [3|MiE tFE 3| 8.92 [4|EEAK M 3| 9.42 |5 |FHu[REAK 3| 9.84 | 6|X=ZFE Bim 3| 10.11 Fi FEH 3| X5
50m —-1.1|| [Z&H-KFAC K- kFEAC K- kFEAC Zyg - BE T C K- HIEAEA C B4 SEE /N K- HIEAEAC
04/14|/hNEEF REE|ME|1|EE ®E 4| 8.63 |2|5H M2 4| 8.65 (3|FH B2 6] 9.09 |4|/hE wITE 4| 9.49 |5|HA ik 4| 9.51 |[6|AE FEE 4| 9.54 7B fEXR 4| 9.55 |8 |M #F1 4| 9.58
50m -0.8| [&H-KkFAC EH-UEBBEARC R WEAERL S HIBAH A C K- KFEAC Sl BAAC K- M A G Rl chigh— I
04/14|/hNEEF REE |11 |FHFE &S 3| 16.63 |2|EA EE 2| 17.38 |3 |Fth/REAK 3| 19.68 |4 k@ £ 3| 20.11 |5|fEsk #&E 3| 21.04 |6 |/hE& mfE 1| 22.42 B w1t 3| XiG
100m -0. 6| |ms-meAmAC Sy BET C R HIEAEAC R BBERERE K- HIEAEAC TR - BB B3R 50
04/14|/hNEEF RS |24 || 1 | RFEEEF 4| 16.30 |2 |EHEB EX 4| 16.49 |3|EHE FE 4| 16.84 |4|HFE FEX 4| 17.80 |5|EAK = 3| 18.20 |6|EFM HEf& 3| 18.37 |[7(HE FEM 4| 19.10
100m -0.5| |[&H-&EHEAC K -ERAC Zyg-KFEAC K- HIEKEAC Fig-BET C FH-OEBEARC 3% -BOSE TC
04/14|/hNEEF R | S| 1 |/ B % 5| 15.02 |[2|luAR HL 4| 15.88 |3 |HE ME 4| 16.33 |[4|FEHUV&KY 5| 16.62 |5|LHE TEK 4| 16.75 |6 |#RaD>EH 4| 17.25 |[T|)EF ¥H=E 5| 18.03 |8 |HA #kih 4| 18.43
100m -0.5| [ZE-BETC H-KEAC - DB EMRC Si- BIfE L el BEAEA C S EEAEAC K- BTELE S KFAC
04/14|/hNEEF RES | AfH |1 |EEF EF0 5| 15.83 |2 |FH & 5| 16.11 |3 |EAK #=x 5| 17.40 (4 |#%%& BEXR 5| 17.50 |5|R=ZE 1EMl 5| 17.99 |6 |&EH EZX 5| 18.59 BAX BE 5 RXiF —FHM#EE 5| X5
100m -0. 6| [ZE-AukEE R BBERERE Fig-PBET C R HBEARAC KRR =N Fh- AL 3 -BOSE TC Fh- Bk L
04/14|/hNEEF RS 1 |hFH B 5| 16.32 |2|HME #kME 5| 16.50 |3 |AJI 3 5| 16.65 |4|FH HEEE 5| 17.15 |5|ZBE #km 5| 17.92 |6 [ K+ #AF 5| 17.94 |7 |fik #HE 5| 17.95 |8 |H%E ¥WZXE 5| 19.53
100m +0.2| |[&#-kFEAC K- B F- Bk L - BIRELE K- BIELE k3, -BOSE TC - BIRELE Fo - HEAE A C
04/14|/hNEEF RRS 6| 1|8k FE# 5| 16.11 |2 |F% HH 5| 16.65 |3|548 E&£ 6| 16.68 |4 |75k IHF 5| 17.16 |5 |/NEp#AtEs 6| 17.68 || 6 (fkN =& 6| 18.16 |7 (Bl 4E# 6| 18.51 |8 |#2TF mH 5| 18.81
100m =2.3| |[mmomBAHAC ZH-BHAC Zeyg- AakE L R S ERELE R BBEAERLE Zig - AIkE L Zyg- AkEL Zeyg- AakEL
04/14|/hNEEF REE|THE 15N BB 6| 16.14 |2 |%@E #A& 6| 16.81 |3 |4k =2 6| 17.02 |4 |Eh &7y 6| 17.25 |5(|%#E KE 6| 17.33 |6|/hF 7HE 6| 18.07 HH ER 6| XiF B EKXR 6| X5
100m -2.1 %3 - BOSE TC R BIkEL - BaEL R - P — N R BIBEL Ry BIREL R HEABAC Ry KFAC
04/14|/hNEEF RS |81 |Bk =M 6| 15.25 |2 |E® E4 6| 15.41 |3|EEN EBEH 6| 15.58 |4|KT #F 6| 16.22 |5|RZE i 6| 16.52 |6 [/NFFRRK 6| 17.46 |7|AEZ %X 6| 18.34 fEfE WX 6| XRiZ
100m -1.9] [xB-BIEEL R -KFAC K- B - BIRELE F- BIRELE K- BIkELE - BIRELE K- BILELE
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Bt R o — FW wbiat 2024 1EAMNREHSR =— | 24080701 PR
FEAEFA A E31:3] miihs Bt RESAEEEFRERS =— K| 083090 FREk AT
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04/14|/NE % F R U1 KB K 4(3:31.18| 2 |ER #F 43:47.01| 3 |EHE XX 4]3:59.05|4 | KM A 3(4:00.26|5|FHE EE& 5(4:02.18||6|#RA ZEF 3|4:07.03|7|#RA #IF 3|4:07.51|8|#ME BAE 4(4:11.08
1000m %KW BIAC K- B — K- BRFAC FR-ABFTAM HMBAEME L 3, -BOSE TC kI -BOSE TC ZW-HRC
9|HE BHFE 3|4:13.74|100BKk TE 3|4:15.42|11|BE FiFE 4]4:24.95\12\MEEARME 2|4:27.72|13|4k HEL 3| 4:35.48||14|FE FIE 2| 4:41.39 15| HARFIF 3| 4:51.88 TAREF 2| Xk
K- HFAC R WEARAC K- BHAC FMBAEME L FHBAEMEL ZH-HRC ZH-HRC Z-HRC
04/14|/NE % F REE (2601 |BEE FED 6]3:22.56|2 | FH ZEF 5[3:25.49 |3 |ffE Ml 5(3:28.34(4|FE HBE 6(3:34.06(5|&F 5 6]3:37.45|6 |Hh FFTy 6(3:39.04 |7 |FKiFE #EXK 5[3:46.44 |8 |ELH RE 6]3:50.50
1000m R HRAC B3R EN Z-AIZAC - EkELE K- HIEAEAC Foi - thiE— I Ki-HFAC 4% -BOSE TC
9|5H B 5|3:53.09(10|FH 2 6(3:56.49|11|/NEFHEMEZE 6(3:59.49|(12| K& #EFE 6|4:05.17|13|#)Il EEZx 5|4:11.60 (14| KA #AEF 5(4:11.80 FA B/ 5| Xi& BH ER 6| Xi5
R B A C S MBAEE L Tt WBAER L FH-BBAEAC S WEARE L % -HRC T SRR St WA A C
04/14|/NE % F R 1|7 EHE 5| 2m91 ||2|FE ZEX 4| 2m66
FE 18 Bk R BBERERLE +1.3 T HEAEAC +1.4
04/14|p 2B F REE |11 |F 52| 12.49 (2|8 A 3| 12.68 |3 |hn@E BHK 2| 12.78 |4 |{EBE RS 2| 12.80 ||5|fRfE JEXK 3| 12.82 ||6|KiE &4 3| 12.89 ||[7|EHHF BT 3| 13.11 |8|F BA 2| 13.40
100m -0. 7| |Zm-KkFAC R pE T KA MRS FHKFAC FI - REM S R EF S R T - Bkt
04/14|hZBF RES 261 | E+RE B 3| 11.95 |2 |iES E 3| 12,28 [3|NOE—{= 2| 12.55 [[4|&:® RAmME 2| 12.74 |5[% % 2] 12.82 |6|R) BEE 2| 12.83 |7|HRHE ] O2| 12.97 |8|%h BBA 3| 13.02
100m -0. 4| |xm-mmms R -BEH R -BEh K- KB H Z- BIkELE T KA RS FHKFAC R EF S
04/14|hZBF R | SHE |1 |RER & 3| 11.68 |2 (@K # 3| 11.70 |3 |#E #EX 3| 11.84 |4 |FHFAmE 3| 11.86 |5 (X=E &E 3| 12.01 |6 |3FE HE 3| 12.21 |7|&Mk Wi 3| 12.23 |8 |#¥H # 3| 12.61
100m -0.5| |&¥-KEH Z- BIkELE T KA MRS T - IR FHKF = R Bl T K ARS R - i
04/14|hgBF R A1 |RT & 3| 12.72 ||2| K& =fF 3| 12.84 |3 |Z+EBEAN 3| 12.90 |4 |# L FR 2| 13.33 |5|#K K1 3| 13.64 |6 |KP #&i® 1| 13.68 |7 |/NEEMEX 2| 14.03 |8|FEAR A 2| 14.35
100m e R b R i R EF R I 5Bl F-BEAC F- Bk L R EF S
04/14|hZBF R | SfE || 1| BEE 2| 13.28 |2 |@E#E A 3| 13.39 (|3|/hO EE) 2| 13.45 ||[4|FR &A@ 2| 13.65 |5 [K#A #E 3| 14.01 |6|RNEA MK 2| 18.29 #wR &% 2| kG B2 #H# 2| Ri5
100m N e Y R BES R i R b I 5Bl FH - RUER S Z- BikEE S B L
04/14|hZBF RS 6|1 EH 8|X 2| 13.74 | 2|FEA AKX 2| 13.89 |3|WR #&X 2| 1419 (4|EH BE 1| 14.85 |5 (85K EHE 2| 15.10 |6 |FXB & 1| 15.23 |7 |E#E F# 1| 15.58 | 8|/ B 1| 18.15
100m 1.1 |- hiep R -BEH F-BED 4% -BOSE_TC R EF T % - BOSE TC R BES ZHKF A C
04/14|hZBF REE | 4R 1 [#E EEX 3| 23.83 |[2|RE &mE 3| 24.91 |3 |@BR B 2| 25.85 |4 |KE EiE 3| 26.29 |5|=+EEN 3| 26.47 |6|®B HEF 2| 26.91 ¥ KE 1| Ri5
200m -1 1) [ kA RS FI - BB S R - gl R b R hEE FH - RUER S R BFAC
04/14|h 2B F REE (260 | 1 |RER " 3| 23.51 |2|%ith EEAK 3| 23.58 [3|HEJ)II ZFK 3| 23.88 |4 [EER E 3| 24.97 |5|NOE—1Z 2| 25.41 |63 %% 2| 25.81 |7|&N B&EZE 2| 26.10 B # 3| XRi5
200m 0.0 [&W-KEH FI - BB S FHKFAC F-BEd R BED S B L T K ARS - Bkt
04/14|hZBF R 1/t RRE 2(2:05.24||2 [JkE KEE 3|2:16.67 |3 |stE #B# 3|2:19.55(4 |FL ¥XK 2|2:23.00(5|/h®E REZ 3|2:25.56
800m - Akt R BT FHKFAC FI - BB S X -BEH
04/14|hZBF R 1| AR+ B 3|4:24.24|2|RA =% 3|4:25.31 |3 |%MA [HE 3|4:27.61|4|Hh EN 2|4:28.17|5|Kx RIS 3|4:29.30(6|E+5 %EH 2|4:38.92| 7 |{FE HI#E 2|4:40.46 |8 |8k Bt 3|4:40.54
1500m - WEAE A C Z- AL T KARSE R hE R FH-BEAC R BFAC Z - REEE R - iR
9 |EILEZEZE 2| 4:44.4810(F)I FEiK 2[4:46.78 [11[EBEXRER 3[4:48. 22|12[)IARME S} 3(4:49.23[13|BAQO h4F 2|4:49.25|14|FE =2 2|4:58.33(15\\1LMA K 3[4:59.02(16/%th A 3[5:05.97
Rk - P Z - P Rk - P F - P Fh- BB LI K- kFAC K- KFAC K TAEY R B
17|ZE FKR 2|5:14.50|[18| K+ #Bsk 3| 5:41.47 19| k4A # 1|5:41.48 #®AR MK 2| XRiE L W o2 RiB Al % 3| XkiE Bk KiE 2| X5
K- REE S - EE s K- BFRAC iR F- BIRELE F- Bk E Fh-BEAEAC
04/14|hZBF R 1|ZE®% s 3| 1m65
EEBE K- RARSD
04/14|hZBF R 1|2E #®E 3| 5mlb ||2 |k & 3| 4m98 |3 |FE#E A 3| 4m88 |4 |\E KE 1| 4mI8 |5 |AR EE 3| 4m68 |6 (8K KFn 3| 4md1 |7 |RME W 2| 4m36 |8 | KA #IE 3| 4md1
ENEBE FW-KFE=H +0.8 R BT +0. 6 W -REP +0.2 K. - IKFAC +0. 2 R EFF P 0.0 R - B +1.7 R KARS +1.1 R - B -0.2
FE H#E 1| 4m24 X &KX 1| 4m00 E#E F# 1| 3m99
Fol - BB A HAC -0.3 I -NEO_AC +0.5 ZP-REEH +0.7
04/14|hZBF R 1|tk ® 2| bmb6
FaHu 3% [5. 000ke] R EF S
04/14|h 2B F \59&5# 1[EKR B 3| 23m02 |2 |#K K 3| 21m23 ||3| KK {E#E 3| 19m68 |4 |2E WEX 3| 17md4 |5|mEE HK 2| 15m22
Mg 1. 500kg] ELRS ol FH - HmED F - £ B op EL Y ol T KARSP
04/14|p % F REE | MR 1| EERE 2| 13.96 |2 |F0O #E 2| 14.12 |3|/HKFLE 3| 14.42 |4|RE TEF 3| 14.43 |5 |54 ik 3| 14.58 |6|MAB EE 2| 14.64 |7|iI0 #x 3| 14.72
100m -0.9| |[&#- Akt T KRS - BEg R EF R R -BES Z- Bkt T K ARS
04/14|hZE L F REE | 2481 [/NFF EFD 2| 14.07 |2 (B EBE 3| 14.08 |3 | ZEE 2| 14.36 4|8k #® 3| 14.37 |5|iE8 #F 3| 14.50 @ BE 3| XkiE #wRK BFH 3| XkiE
100m -1.3| [ZR-Byliep R ABH R i - 381 R EF S R KEH R 5B)I
04/14|p % F RES|ME |1 (B O 2| 13.09 |2 (85K ®A& 2| 13.24 3|4y HARF 2| 13.26 |4 |tk#E X£AB 2| 13.46 |5[;AEF =MW 3| 13.61 |6 | KEFEXR 3| 13.76 KEHMY 3| XRi5
100m -1.0| |ZW-+E& Z- BIkELE F-BikEL T KRS T KARS T KA RS FHKFAC
04/14|p % F REE | AE| 1 |RE O RW 2| 14.86 |2 |£E Bk 3| 14.96 |3 |4 #Ema 1| 15.01 |4 |&HNl EE 2| 15.19 |5 (@A FEE 2| 15.30 kB FH 3| XkiE AN EE 3| RiE
100m —0. 4| |mm-ommrozes K- KAR S - KEAC %3, -BOSE TG R KARSH R AARS R R YR b
04/14|p % F REE SR [/NEF €Y 1| 16.23 |2 [3kRMFEVS 1| 15.24 |3 (8E JR#» 2| 15.36 |4 |=EA FHEZF 3| 15.56 |5 |KFHFx #EM 2| 16.01 |6|#sAK 3XF 3| 16.01 |7 |f@E #BE 1| 17.21
100m -1.2| |[Z&3H-NEO AC F5h-BEAEAC Fi - KRR K - B S FHE Y R R KI- h i K- HIEAEAC




No.3

FSvD - J4—I)LFTEH - FiE - #ERR - R - BLIRE
Bt R :—FW wbiat 2024 1EAMNREHSR =— | 24080701 PR
EHEFIR E31:3] w4 BATRESCEE LRSS =— | 083090 Lok AT
EREN CIE T . [HEEEE T = JIE) ideE 4 - [HEEE T - [HEEEE T - [HEEEEEE B [HEEEE T - [ EEEE =
Rl LN g 1 Y il (oA R | el (A TR | R | R | i R | e
04/14|hE L F R 1M1 |B8FR & 3| 29.47 [2[iItE WEE 3| 29.81 [3[K&A/ E# 3| 30.42 (454 H4£ 3| 30.49 |52 MH 3| 31.83 |[6|AE B 3| 32.32 |7|EAX #F 3| 32.68
200m -1.1 Rl HIEKEAC Z - KA ES Y L - iR K- KARS Rk - 1EF Kk - EEF
04/14|hZE & F REE (2681 |Bh 0 2| 26.76 |2 |tk X£A 2| 27.10 |3 |iEEF EM 3| 28.27 |4 |HWBKRF 2| 28.30 |5|EH R 3| 28.71 |6|#EA Mt 3| 28.75 |7 (@B EaE 2| 29.82 |8 |/h#FicE® 3| 29.93
200m -0.6| |[&#H-+Ep R AARS R ARRS R hE Rk - £ G Feoh WA A C K- B R -BED
04/14|hZE L F RES ||| 1|BO AT 2(2:44.77||2|FB FfE 1)2:45.46| 3 | KEA#H S 1(2:47.35|4 | ER 112:48.19 (5 |8RIE BEF 2[2:49.07 6 |HAFRMM 1[2:54.86(7| KM 24 2|2:57.87 Sk=) & 3| Rip
800m K- HAAC K- BHRAC F-kFAC Fg-KEAC B oL Rig-HRC K- KRR P ArN::L
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